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Sixth Semester 

Commerce 

Elective – INCOME TAX – II 

(CBCS – 2014 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Section A  (10 × 2 = 20) 

Answer all the questions. 

1. Define the term Total Income. 

 ö©õzu Á¸©õÚ® GßÓ ö\õÀø» Áøμ¯Ö. 

2. What is the meaning of Inter-Head Adjustments? 

 C¸ uø»¨¦PÐUS Cøh°»õÚ \›UPmhÀPÒ GßÓõÀ 
GßÚ? 

3. Give any two deductions of Profits and Gains under 
Business and Profession. 

 ÁºzuP® ©ØÖ® ÁõÌUøP öuõÈÀ «uõÚ »õ£[PÒ ©ØÖ® 
Buõμ[PÐUPõÚ Cμsk Á› Â»USPøÍ u¸P. 
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4. Mr. Alex informs you that his total income computed 

under the Income Tax Act is Rs. 80,000. You are required 

to calculate his Tax Liability for the AY 2019-20. 

 v¸.Aö»Uì Á¸©õÚ Á›a \mhzvß RÌ PnUQh¨£mh 

ö©õzu Á¸©õÚ® ¹.80,000 BS®. 2019&20 ©v¨¥mk 
BskUPõÚ AÁμx Á›¨ö£õÖ¨ø£ PnUQkP. 

5. Expand the term CBDT. 

 CBDT GßÓ £uzvøÚ Â›ÁõUSP. 

6. What do you mean by Bond Washing Transactions? 

 Ps xøh¨¦ |hÁiUøPPÒ GßÓõÀ GßÚ? 

7. Define Self Assessment. 

 _¯©v¨¥k – Áøμ¯Ö. 

8. What is the Time Limit for making the Assessment under 

section 143(1)? 

 ¤›Ä 143(1) Cß RÌ ©v¨¥k ö\´ÁuØPõÚ Põ» Áμ®¦ 

GßÚ? 

9. What is deduction of Tax at Source? 

 BuõμzvÀ C¸¢x ¤izu® GßÓõÀ GßÚ? 

10. State the meaning of "Permanent Account Number". 

 {μ¢uμ PnUS Gs Gß£uß ö£õ¸Ò u¸P. 
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 Section B  (5 × 5 = 25) 

Answer all the  questions. 

11. (a) What is the Meaning of `Set-Off and Carry Forward' 
of Business Losses? How to adjust Business Losses? 

  ÁoP |mh[PøÍ Dk ö\´uÀ ©ØÖ® •ß÷ÚõUQ 
Gkzxa ö\À¾uÀ GßÓõÀ GßÚ? ÁoP |mh[PøÍ 
GÆÁõÖ \› ö\´Áx? 

Or 

 (b) Compute Taxable Income and Loss to be C/F: 

  (i) Business Profit for the Previous Year 2018-19    

       Rs. 20,000 

  (ii) B/F Business Loss of 2016-17  Rs. 10,000 

  (iii) Capital Loss on Shares  Rs. 60,000 

  (iv) Loss from Self-Occupied House (u/s 24)           

       Rs. 5,000 

  Á› ÂvUPUTi¯ Á¸©õÚ® ©ØÖ® •ß÷ÚõUQ 
Gkzxa ö\À¾® |mh[PøÍ PnUQkP. 

  (i) •¢øu¯ Bsk 2018&19 PõÚ ÁoP »õ£®  

       ¹. 20,000 

  (ii) 2016-&17® Bsiß •ß öPõnμ¨£mh ÁoP 

|mh®   ¹. 10,000 

  (iii) £[SPÎß ‰»® ‰»uÚ |mh® ¹. 60,000 

  (iv) ö\õ¢u Si°¸¨¦ Ãmi¼¸¢x HØ£mh |mh® 

(u/s 24)   ¹. 5,000 
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12. (a) Compute the total income of Mr. Ram from the 
particulars given below. 

Interest on Securities (Gross) 27,000

Rental value of a house Rs.7,500 p.m. Self-acquired 
but transferred to H.U.F. common pool. Income from 
this house (computed) is 

25,200

Share from firm in which he has 1/3rd Share 45,000

Commission received by his wife from such firm for 
acting as its selling agent. 

25,000

 v¸.μõªß ö©õzu Á¸©õÚzøu R÷Ç öPõkUP¨£mkÒÍ 
ÂÁμ[PÎ¼¸¢x PnUQkP. 

£zvμ[PÒ «uõÚ Ámi (ö©õzu®) 27,000

Ãmiß ÁõhøP ©v¨¦ ©õuzvØS ¹.7,500 _¯©õP 
Áõ[Q¯x  BÚõÀ H.U.F. GßÓ ö£õxÂß RÌ 
öPõskÁμ¨£mhx. C¢u Ãmi¼¸¢x 
(PnUQh¨£mhx) Á¸©õÚ®. 

25,200

J¸ Tmk {ÖÁÚzvÀ CÁ¸US £[S EÒÍx. CvÀ 
CÁμx £[S 1/3 

45,000

{ÖÁÚzvÀ Auß ÂØ£øÚ •PÁμõP ö\¯À£mhuØPõP 
AÁμx ©øÚÂ A¢u {ÖÁÚzvhª¸¢x ö£ØÓ Pªåß

25,000

Or 

 (b) Compute the Book Profit of a firm (Partners are 
Chartered Accountants) (FAS) from the details 
given below. 

  Profit earned by the firm in the year 2018-19 (after 
charging the following amounts)  Rs. 5,00,000. 

  (i) Interest on Capital to Partners @ 18%  
    Rs. 54,000. 

  (ii) Remuneration to Working Partners as per 
Partnership deed   Rs. 1,00,000. 
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  (iii) Donation to an approved educational 
institution    Rs. 1,00,000 

  (iv) Business Expenses  Rs. 5,000 

  (v) Income Tax    Rs. 1,000. 

  R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x J¸ 
{ÖÁÚzvß ¦zuP »õ£zøu (TmhõÎPÒ £mh¯ 
PnUPõÍºPÒ) (FAS) PnUQkP. 

  2018&19®  BsiÀ {ÖÁÚ® Dmi¯ »õ£® 
(¤ßÁ¸® öuõøPPøÍ Á`¼zu ¤ÓS) ¹. 5,00,000  

  (i) TmhõÎPÐUPõÚ •uÀ «uõÚ Ámi @ 18%    

  
       ¹.54,000. 

  (ii) Tmk £zvμ £i EøÇUS® TmhõÎPÐUPõÚ 
Fv¯®    ¹. 1,00,000. 

  (iii) A[RP›UP¨£mh PÀÂ {ÖÁÚzvØS 
|ßöPõøh    ¹. 1,00,000. 

  (iv) ÁoP ö\»ÄPÒ  ¹. 5,000 

  (v) Á¸©õÚ Á›   ¹. 1,000. 

13. (a) What are the powers of commissioner (Appeals)? 

  Bøn¯õÍ›ß (÷©À•øÓ±k) AvPõμ[PÒ GßÚ? 

Or 

 (b) Mention the various Income Tax Authorities. 

  £À÷ÁÖ ÁøP¯õÚ Á¸©õÚÁ› AvPõ›PøÍU 
SÔ¨¤kP. 

14. (a) Explain the Consequences of Best Judgement 
Assessment. 

  ]Ó¢u wº¨¦ ©v¨¥miß ÂøÍÄPøÍ ÂÍUSP. 

Or 
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 (b) Discuss the following.                    

  (i) E-Filing               

  (ii) PAN 

  ¤ßÁ¸ÁÚÁØøÓ¨ £ØÔ ÂÁõvUPÄ®. 

  (i) ªß uõUPÀ 

  (ii) £õß 

15. (a) What are the payments covered under the TDS 
Mechanism and the rates for deduction of tax at 
source? 

  i.i.Gì. •øÓ°ß RÌ EÒÍ ö\¾zxÀPÒ ©ØÖ® 
Buõμzv¼¸¢x Á› ¤izu ÂQu[PÒ GßÚ? 

Or 

 (b) What is the difference between PAN and TAN? 

  PAN US® TAN US® GßÚ Âzv¯õ\®. 

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following particulars, compute the Total Income 
of Mr. David for the Assessment year 2019-20. 

 Rs.

Loss from House Property -10,000

Short Term Capital Gain on sale of Shares 1,05,000

Long Term Capital Loss on sale of Bonds -85,000

Other sources : Interest on Govt. Securities 10,000

 The Assessee has unabsorbed depreciation of Rs. 25,000 
being brought forward from 2016-17.  Assessee had closed 
the business and all the assets have been disposed of. 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, 2019&20 ©v¨¥mk 
BsiØPõÚ v¸.÷hÂm ö©õzu Á¸©õÚzøu 
PnUQk[PÒ. 

 ¹.

Ãmk ö\õzv¼¸¢x CÇ¨¦ - 10,000

£[SPÎß ÂØ£øÚ ‰»® SÖQ¯ Põ» ‰»uÚ 
Buõ¯® 

1,05,000

£zvμ[PÎß ÂØ£øÚ°À }sh Põ» ‰»uÚ CÇ¨¦ - 85,000

¤Ó Buõμ[PÒ : Aμ_ £zvμ[PÒ «uõÚ Ámi 10,000

 ©v¨¥mhõÍº DºUP¨£hõu ÷u´©õÚ©õÚ ¹.25,000 I 
2016&17 Bsi¼¸¢x •ß öPõnμ¨£mhx BS®. 
©v¨¥mhõÍº ÁoPzøu ‰iÂmk Auß AøÚzx 
ö\õzxUPÐ® ÂØP¨£mhÚ. 

17. Compute the Tax Liability of Mr. Rahim from the 
particulars given below.        

 (a) Business Income                          Rs. (+) 1,50,000 

 (b) Loss from Self Occupied House   Rs. (-)   30,000 

 (c) Short Term Capital Gain from Jewellery  

       Rs. (+)    8,000 

 (d) Short Term Capital Gain from Shares which are 
subject to Securities Transaction Tax (+) 65,000 

 v¸.μïªß Á›¨ ö£õÖ¨ø£ R÷Ç öPõkUP¨£mkÒÍ 
ÂÁμ[PÎ¼¸¢x PnUQkP. 

 (A) ÁoP Á¸©õÚ®   ¹. (+) 1,50,000 

 (B) ö\õ¢u Si°¸¨¦ Ãmi¼¸¢x CÇ¨¦ ¹. (-)   30,000 

 (C) |øPPÎ¼¸¢x SÖQ¯ Põ» ‰»uÚ Buõ¯® 

       ¹. (+)    8,000 

 (D) £zvμ £›ÁºzuøÚ Á›US Em£mh £[SPÎ¼¸¢x 
SÖQ¯ Põ» ‰»uÚ Buõ¯® (+) 65,000 
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18. Who can act as Assessing Officers and what powers they 
have? 

 Á› ÂvUS® AvPõ›/©v¨¥mk AvPõ›PÍõP ¯õº 
ö\¯À£h •i²®, AÁºPÐUS GßÚ AvPμõ[PÒ 
EÒÍÚ? 

19. What is Assessment of Income? Explain various types of 
Assessments. 

 Á¸©õÚ ©v¨¥k GßÓõÀ GßÚ? £À÷ÁÖ ÁøP¯õÚ 
©v¨¥kPøÍ ÂÍUSP. 

20. Explain the procedure for Advance Tax Payable by an 
Assessee on his own accord. 

 J¸ ©v¨¥mhõÍº uÚx ö\õ¢u Â¸¨£¨£i ö\¾zu 
÷Ási¯ AmÁõßì Á›UPõÚ |øh•øÓø¯ ÂÍUSP. 

  
———————— 
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